
Six in Six – A  

 456 + 392 =  
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−
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6 ÷ 10 = 
 

 

What time is it?  
 
 
 

 
  

83 x 2 = 
 

 

Which is the greater measurement  

3litres or 2000ml?  
 

 

987 – 179 = 
 

 

9 x 8 =  
 

 

1

8
 of 32 

 

 

64 ÷ 8 =  
 

 

 

 

 



Answers 

 456 + 392 =  
 

848 

8

10
−

2

10
  = 

6

10
 

6 ÷ 10 = 
 

0.6 

What time is it?  
 
 
 

 
4.40  or twenty to five 

83 x 2 = 
 

166 

Which is the greater measurement  

3 litres or 2000ml?  
 

3 litres 

987 – 179 = 
 

808 

9 x 8 =  
 

72 

1

8
 of 32 

 

4 

64 ÷ 8 =  
 

8 

 


